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def solvable(maze):
n,n = maze.dim()
return reachable (maze, n-1, n-1)
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EMPTY, FULL, REACHABLE = 0, 1, 2
def reachablel (maze, i, j):
maze [0,0] = REACHABLE # by assumption
n,n = maze.dim()
for steps in range(n*n):
for a in range(n):
for b in range(n):

if maze[i,j] == FULL: continue # not reachable anyway

=

right = b < n-1 and maze[a,b+1] == REACHABLE
left =Db > 0 and maze[a,b-1] == REACHABLE
down = a < n-1 and maze[a+1,b] == REACHABLE
up =a >0 and maze[a-1,b] == REACHABLE
if right or left or down or up:
maze [a,b] = REACHABLE
return maze[i,j] == REACHABLE
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EMPTY, FULL, REACHABLE

def reachable2 (maze,

i,

0,
i)

maze [0,0] = REACHABLE

n,n = maze.dim()

1, 2

for steps in range (2*n):
for a in range(n):
for b in range(n):

LN

# by assumption

if maze[a,b] == FULL: continue # not reachable anyway
right = b < n-1 and maze[a,b+1] == REACHABLE
left =Db > 0 and maze[a,b-1] == REACHABLE
down = a < n-1 and maze[a+1,b] == REACHABLE
up =a >0 and maze[a-1,b] == REACHABLE
if right or left or down or up:
maze [a,b] = REACHABLE
return maze[i,j] == REACHABLE
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EMPTY, FULL = 0,1 3
def reachable3(maze, i, j):
if i==j==
return True # by assumption
if maze[i,j] == FULL:
return False # not reachable anyway
n,n = maze.dim()
if j < n-1 and reachable3(maze, i, j+1): return True # right
elif j > 0 and reachable3(maze, i, j-1): return True # left
elif i < n-1 and reachable3(maze, i+1, j): return True # doun
elif 1 > O and reachable3(maze, i-1, j): return True # up
else:
return False
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def silly_encode(x,y):
z = (x+y)%h2 # parity
return (x,y,z)*3 # 3-fold repetition
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class Permutation:

def __init__(self, perm):
assert isinstance (perm, list)
n = len(perm)
assert sorted(perm) == list(range(n))
self . _perm = perm[:]

def __getitem__(self, i):
return self._perm[il]

def __len__(self):
return len(self._perm)

def repr__(self):

return "Permutation ({})".format(self._perm)
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>>> p = Permutation([4, 2, 0, 6, 1, 5, 31) o7
>>> p.inverse ()
Permutation([2, 4, 1, 6, 0, 5, 3])
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>>> p = Permutation([4, 2, 0, 6, 1, 5, 31) RRATT

>>> [p.order (i) for i in range (7)]
[4’ 4’ 4, 2’ 4’ 1’ 2]
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>>> L = [12, 21, 36, 43, 52, 65, 75, 88, 83, 47, 25, 6] RENT
>>> max_updown (L)
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.average_prefix

MRPDAT
>> L = [1, 5, 3, -12, 99, 0, -5, ...]
>>> list (average_four (iter (L)))
[-0.756, 23.75, 22.5, 20.5] # e.g., 23.75 = (65+3-12+99)/4
>>> list (average_prefix(iter(L)))
[+, 3, 3, -0.75, 19.2, 16, 13, ...] # e.g., 19.2 = (1+5+3-12+99)/5
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